


10.4-10.5 Applications of Matrices and

Determinants




Let's look at:
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Let's look at:
ai X + b1y = C

aXx + bzy = C
solve fory
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Cramer's Rule
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Use Cramer's Rule to solve:
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Use Cramer's Rule to solve:

-7x + 11y = -1
3x-9y=9



2x+y-3z=15
4x -y+2z=-9
-2x +2y+z2=6




Area of a Triangle:

The area of a triangle with vertices (xi, y1),
(X2, ¥2), and (X3, ys) is:

X1 Y1 1
X2 Y2 1
X3 ys3 1

Area= * 1
2




Find the area of a triangle
whose vertices are:

(1,0), (2,2), (4,3)
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Cryptography: a cryptogram is
a message written according to
a secret code.

MEET ME MONDAY
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